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Congruent Triangle Proofs 1
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Given: FObisects AS
LAnsS

Prove:  AFAT = A0ST
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Gven: AC=CB
Dis the midpoint of AB

Prove:  AACD = ABCD
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In the diagram below of AABC and ADEF below, AB = DE, ZA = +D, and B = ZE.
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Which method can be used to prove AABC = ADEF?
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Which pair of triangles can be proved congruent by SAS?
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What value of x would prove that AABC = ADEF by sss?
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Gven:  PT biscets 05
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Prove: APQR® ARST
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Given: BDL1AC
AB=BC

Prove: AABD = ACBD
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Given:

Prove:

GA=FE
Dis the midpoint of AE
GA LAE
FELAE

ADAG = ADEF




image5.emf

